STRIPLAT ||

PRICE LIST
OF SPARE
PARTS

STRIPCAT Il UNIT AND
OPTIONS

www.slyfrance.com - sav@slyfrance.com - tel. + 33(0)5 53 40 32 95 - fax + 33(0)5 53 40 61 36
SLY France - La Madeleine - 47210 Bournel


http://www.slyfrance.com
mailto:sav@slyfrance.com
http://www.slyfrance.com
mailto:sav@slyfrance.com

STRIPLAT ||

SPARE PARTS BOOK

P>

www.slyfrance.com

Ref. Designation Price HT (€) Ref. Désignation Price HT (€)
$100.100 | AXLE 20X40X80,5 CR 12,66 € $100.258 | SCREW M16X130 8.8 ZN 1,41 €
$100.102 | AXLE 24.8X73 ZN 8,04 € $100.259 | SCREW M16X120 8.8 ZN 1,38 €
$100.103 | SPACER 16,5X40X45 ZN 9,06 € $100.260 | SCREW M16X100 8.8 ZN 1,20 €
$100.104 | CLEVIS AXLE 40X280XM20 ZN 35,67 € $100.263 | SCREW M16X70 8.8 ZN 0,75 €
$100.105 | AXLE 24.8X123 ZN 1242 € $100.264 | SCREW M14X100 8.8 ZN 1,05 €
$100.106 | AXLE 19X116 414€ $100.265 | SCREW M14X45 10.9 ZN 0,81 €
$100.111 | MOUNTING HEAD RIGHT HAND 66,18 € $100.267 | SCREW M12X35 8.8 ZN 0,27 €
$100.112 | MOUNTING HEAD LEFT HAND 66,18 € $100.269 | SCREW M12X20 8.8 ZN 0,21€
$100.116 | UPPER PARRALELL ARM WITHOUT BUSHING 72,72 € $100.270 | SCREW M10X30 8.8 ZN 0,15 €
$100.117 | LOWER PARRALELL ARM WITHOUT BUSHING 69,75 € $100.271 | SCREW M8X40 8.8 ZN 0,18 €
$100.121 | BUSHING 3,33¢€ $100.272 | SCREW M8X25 8.8 ZN 0,09 €
$100.125 | SHANK HOLDER 153,72 € $100.273 | SCREW M6X16 8.8 ZN 0,03 €
$100.128 | AXLE 12X25X78 10,92 € $100.275 | NYLOC NUT M20 8.8 0,50 €
$100.135 | THREADED AXLE M20 20,16 € $100.276 | NYLOC NUT M16 8.8 0,21€
$100.136 | PLASTIC BLOCK 13,50 € $100.277 | NYLOC NUT M14 8.8 0,21€
$100.137 | WASHER 18X45 525 € $100.279 | NYLOC NUTM128.38 0,15€
$100.139 | HUB 5XM12 ZN 59,04 € $100.280 | NYLOC NUT M8 8.8 0,06 €
$100.143 | SPRING BRACKET LEFT HAND 23,79 € $100.282 | FLAT WASHER @20 0,15 €
$100.144 | SPRING BRACKET RIGHT HAND 23,79 € $100.283 | FLAT WASHER @16 0,09 €
$100.149 | FLANGED BUSHING 16X25X28 ZN 6,81 € $100.284 | FLAT WASHER @14 0,09 €
$100.154 | SPACER 32X40X27 6,39 € $100.287 | GROWER WASHER @14 0,06 €
$100.166 | BIRM BUILDER ARM EXTENSION 63,06 € $100.288 | GROWER WASHER 08 0,03 €
$100.167 | BEARING 8,61€ $100.289 | GROWER WASHER 06 0,03 €
$100.168 | BEARING 39,21 € $100.294 | WAVY DISC 18" 4 HOLES 50,80 €
$100.169 | CIRCLIPS INT.55 0,39 € $100.295 | SCREW M12X40 TETE SQUARE HEAD ZN 0,69 €
$100.178 | PACKING ARM WITHOUT BUSHING 87,18 € $100.296 | SCREW M12X30 SQUARE HEAD ZN 0,57 €
$100.183 | NARROW DISC BRACKET LEFT HAND 51,87 € $100.297 | COMPLETE OPENER DISC 155,34 €
$100.184 | NARROW DISC BRACKET RIGHT HAND 51,87 € $100.308 | OTICO WHEEL FARMFLEX 154,50 €
$100.185 | STRIPCAT SUNCO BRACKET 38,91 € $100.309 | NUT M168.8 ZN 2,10€
$100.188 | FLOATING SUNCO BRACKET RIGHT HAND 57,90 € $100.310 | U BOLT M12X60X85 1,10 €
$100.189 | MOUNTING BRACKET 53,37 € $100.311 | U BOLT M22X182X224/40 14,85 €
$100.202 | AXLE 14X25X59 CR 747 € $100.312 | U BOLT M22X182X155/50 8,40 €
$100.210 | PACKING ARM WITH BUSHING 97,17 € $100.313 | SCREW EYE M16X265X16,5 12,86 €
$100.211 | UPPER PARRALELL ARM WITH BUSHING 91,56 € $100.314 | BIRM BUILDER ARM SPRING 15,12 €
$100.212 | LOWER PARRALELL ARM WITH BUSHING 85,89 € $100.316 | DUST COVER 5,55 €
$100.213 | TRIPPING PLATE WITH BUSHING 142,95 € $100.317 | CAOUTCHOUC DUST COVER 3,33€
$100.227 | BUSHING 1,14 € $100.318 | HUB WITH BEARING 106,47 €
$100.228 | HUB WITHOUT BEARING 37,11 € $100.319 | HUB WITH BEARING AND AXLE 135,48 €
$100.230 | IRON FINGER PACKING WHEEL 102,66 € $100.320 | NOTCHED DISC 18" 5X104 52,80 €
$100.231 | PACKING WHEEL BRACKET 38,13 € $100.321 | FULL BIRM BUILDER DISC 202,59 €
$100.237 | HUB WITHOUT BEARINGS 46,38 € $100.323 | VERTICAL BIRM BUILDER ARM RIGHT HAND 60,21 €
$100.238 | HUB WITH BEARINGS AND AXLE 87,45 € $100.324 | VERTICAL BIRM BUILDER ARM LEFT HAND 60,21 €
$100.241 | AXLE 20X30X80 ZN 11,34 € $100.327 | AIRBAG 78,42 €
$100.243 | LEFT SUNCO DISC + HUB WITHOUT FASTENERS 195,00 € $100.328 | CONNECTING SLEEVE R.6.M.14-BSP 2,16 €
$100.244 | RIGHT SUNCO DISC + HUB WITHOUT FASTENERS 195,00 € $100.330 | ACCUMULATOR 116,40 €
$100.245 [ RETURN SPRING 9,00 € $100.331 | NUT LOW M33X2MM 5,85 €
$100.246 | CIRCLIPS EXT.30 0,18 € $100.334 | HYDRAULIC CYLINDER FOR STRIPPING SYSTEM 171,00 €
$100.247 | DUST COVER 570 € $100.335 | CIRCLIPS EXT.25 INOX 0,24 €
$100.249 | HUB WITH BEARING 59,58 € $100.344 | SPACER 16X30X30 5,55 €
$100.250 | CIRCLIPS INT.40 027 € $100.345 | NYLOC NUT M10 8.8 ZN 0,12€
$100.251 | BEARING 17,88 € $100.346 | ASSEMBLY RIGID TRASH WHEEL NARROW LEFT 98,40 €
$100.252 FLOATING TRASH WHEEL ASSEMBLY RIGHT HAND 455,88 € $100.347 SUNCO BALL LOCK PIN 6,00 €
$100.253 | SCREW M20X140 8.8 ZN 2,85€ $100.348 | ASSEMBLY RIGID TRASH WHEEL NARROW RIGHT 98,40 €
$100.254 | SCREW M20X110 8.8 ZN 297 € $100.349 | AIRBAG 72,33 €
$100.255 | SCREW M20X90 8.8 ZN 1,68 € $100.351 | SPRING HOLDER BAR 2,40 €
$100.257 | SCREW M16X150 8.8 ZN 1,92€ $100.352 | BENDED PLATE 17,52 €

CONTACT : sav@slyfrance.com - tel. + 33(0)5 53 40 32 95 - fax + 33(0)5 53 40 61 36
Update of 01/03/2016 - Ex Work Bournel 47210

See General Sales Conditions



mailto:sav@slyfrance.com
mailto:sav@slyfrance.com

Ref. Désignation Price HT (€)

$100.406 | PARALLEL ARM WITHOUT BUSHING 79,53 €
$100.407 | PARALLEL ARM WITH BUSHINGS 89,07 €
$100.418 | AIRBAG BRACKET 11,04 €
$100.423 | SUNCO STEM LEFT HAND WIDE STRIPCAT 47,28 €
$100.424 | SUNCO STEM RIGHT HAND WIDE STRIPCAT 47,28 €
$100.425 | FLOATING SUNCO BRACKET LEFT HAND 57,90 €
$100.426 | FLOATING TRASH WHEEL ASSEMBLY LEFT HAND 455,88 €
$100.436 | RIGID TRASH WHEEL ASSEMBLY RIGHT WIDE 93,81 €
$100.437 | RIGID TRASH WHEEL ASSEMBLY LEFT WIDE 93,81 €
$100.457 | SCREW M10X30 8.8 ZN 0,36 €
$100.471 | SCREW M12X130 10.9 ZN 4,02 €
$100.475 | SCREW M14X90 8.8 ZN 0,75 €
$100.514 | NUT M14 ZN 0,12€
$100.537 | STRIPCAT SIDE PLATE RIGHT HAND 245,49 €
$100.538 | STRIPCAT SIDE PLATE LEFT HAND 245,49 €
$100.539 | FRONT AIRBAG BRACKET 4515 €
$100.540 | BIRM BUILDER ARM WITHOUT BEARING 96,48 €
$100.541 | BIRM BUILDER ARM WITH BEARING 122,97 €
$100.542 | POINT SHIELD STPO 39,50 €
$100.543 | SHANK SHIELD 16" SOLID 85,00 €
$100.544 | PIPE CAP 60X60 1,83 €
$100.581 | SHANK SHIELD 16" LIQUID 68,20 €
$100.582 | SHANK SHIELD 18" SOLID 95,00 €
$100.583 | SHANK SHIELD 18" LIQUID 79,20 €
$100.713 | VIBROTINE KIT STRAIGHT SHANKS 165,00 €
$100.714 | VIBROTINE KIT CURVED SHANKS 165,00 €
$100.716 | FLAT DISC 18" 4 HOLES 50,80 €
$101.737 | DOUBLE DISCS KIT 425,00 €
$101.857 | COLLECTOR FOR SLURRY APPLICATION 110,00 €
$102.050 | WAVY DISC 18" 5X104 52,80 €
$102.066 | SHANK 16" WITH SLURRY TUBE 242,00 €
$102.125 | DISC 18" 5X104 39,53 €
$102.305 | POINT SHIELD DFPO 39,50 €
$102.306 | CARBIDE POINT STPO 85,00 €
$102.314 | HYDRAULIC HOSE L500 12,33 €
$103.011 | HYDRAULIC CONNECTOR CROSS BSP 3/844 15,78 €
$103.014 | HYDRAULIC CONNECTOR T BSP 3/8” 12,30 €
$103.031 | POINT SHIELD 500-POC 37,50 €
$103.037 | CARBIDE POINT DFPO 85,00 €
$103.038 | WELDED POINT STPO 173,70 €
$103.039 | SUNCO DISC CAP 7,92 €
$103.040 | SCREW HHCS 3/4X3 5,04 €
$103.047 | WASHER 3/4 1,08 €
$103.048 | NUT 3/4 2,31 €
$103.074 | RIGHT SUNCO DISC KIT 220,00 €
$103.075 | LEFT SUNCO DISC KIT 220,00 €
$103.638 | SHANK SHIELD 16" WITHOUT TUBE 55,00 €
$103.647 | HOSE D60 L500 6,29 €
$103.648 | COLLAR 23-70MM V2A 2,64 €
$103.649 | SLURRY SHANK KIT Contact us
$106.257 | HYDRAULIC TRIPPING SYSTEM KIT Contact us

CONTACT : sav@slyfrance.com - tel. + 33(0)5 53 40 32 95 - fax + 33(0)5 53 40 61 36
Update of 01/03/2016 - Ex Work Bournel 47210

See General Sales Conditions


mailto:sav@slyfrance.com
mailto:sav@slyfrance.com

